
Sumey:
Let φε SolEmPeut of degree : 3 & assume that

2x= 204) ( y, x ) . Thew,U [φ): =( φ(Yx), φ la . y ) )

ε tdera satisfies kVl ) & ( KV2 ) 。

ー
ー

l
. the homotopy intersectionfoum & 1 )

1 2 … いπ=π, Ʃ0
,

1 nen ) ≡ (5r , " , 50 > 函Oe …θク : ④π⑪ ④π→ ④π (Massuyeau-Turaev )

7 (α , β ) = Ʃ Ep α*PBP* k
PE αAβ

RisaF: 7 ( a,bcl = 2 ( a,b ) C + Elb) ?(a , c )

?(ab, c) = E(b) 7lac ) + a 7(b . c )

gr④π= Ass (E,… ;En )Zi= [ - 1 } H: =④④Ei ≡Hi(Ʃom)
Z : H × H → H , る(E:it ; l: = jZi



r

Z : HXH → H , Z(Ei, t ; ]: =δ jZi

7 ns7gr :Ass
2
→ Ass

Igr (anam,bi…bu) = a …Gm-iZ(am, b , )ba… bn

( Massuyeau-Turaev, Naet >

φε tAut ( Lie (Ei ,… En} )1
φ o ?

gr
= 7gro φ ⇒ φ (E+… + on) = Zit …+ En 1

Alsotwe :
φ ttAut (Rim) )( φ R = 7 o φ ☆ 41 @) = @ )

logawthm{
U = (u 、 …、 un \ ttder (Liela,…en1)
Uo 7gn = 2grou ⇒ U(Z. +… + En) = 0

⑪
uoNgr (zin (j) ] = 7gr uti)L, } ) + ? grlzi ;u; ))



ULEi+…… Zn ) = 0
λ
Y
uo ?gultit ;

)) = 7 gru ,} 1 t 7 gu(zi, ukgl )
7

LHS = U ( Z(Ei , ;) }= {
0 ij

U {Zi) = [zi
,
Ui ] i=;

RHS = 7 ( ti)_ ) ) +7 ; )頃 )
Zidi - Uizi Zjuj - u; tj

( Igrlan… an, bi… bu ) = aramiZ(am,b 、 ) ba…bm )
= Z.Ui ) Zj - UiZ(Ei,Z; ) tZ(ti , } )uj-: 1uj ):
= Ei ( ∂;Ui-

∂

uj ) E; tら{ Ei ( ∂ ;Ui -∂uj ) } +Ui ]ij
[U = ( ui, ", Un ) Etder

ajui = 2 uj } ]ULZi+… +Zu ) = 0⇒水



aitlj
U = Cuis ", Un ) Etder lリ[ ULE+… +Eu ) = 0 ②ajui =aiuji.; ]

Uz

The case u: 2 & U= U(φ) = ( φ ly 、x)

"

, φ(x 、 は ) )
Z飛は

Uc+ y )= 0 20 φly, x) ) = 4 い" )
① ∂y φlxiyl ) =ayQ.y)1
…

O ∂y . φg(x) ) =axφ. y),

② ayφ = 24& 204) ((yx ) =2x

e 楷
φ E 501EuPeut



2
. ThemapR & self-intersection of loop

R : Lie→ Ass, R(E: ) = 0 &

R (Cu ,v ) ) = U,Riv ) ) +Ru v)
+ 語 \Zi2 it - 24 ) zizir !

µo : ④π → ④π

µ018 ] =Ʃ Ep tkp
.
Jpt @

rot=

{
µ PESelfly) GiustYecoud

8 P

.

eご ～

hormotpy int , form
Zxp ,

JP2k

produMolab)=µ ola]bea µolb ) + 7@ b )

assgr

Molgo( a…am )=Ʃ "a
、

…aj-iZ(az ,a;ヵ) Gj+z
… Gm

j= 水



R= -Molgr」 Mo = Molgr

proof Molzi ) = 0

Igr (an… Am, bi… bu ) = aa …am-,Z(am,bilba… bn
ー17gr(a , b= 気る R「b )C17 ibl )

aibtlie

a, btLie . Then

µMo([ a、b 3 ) =Molalb + aµolb) + 7 (a 、 b )

- µolbla- buola ) - 7(b .a )
= M(a) , b ]t µolb) ]
+ : 2Eidi5 -blzitia ) 11



Mo recoverstheTuraev
a iaxa "-Moa 'o Mola

" )
刀

戒 -→
rxid)axD
'Mola ")() * δ"(Mola

"

) }
( lomultid
a' s'

µ

ola)(U δ
"

(Mola
"

) )

只
Thew

, Ur(a ) εQ 1*Qπ

δ (al ) =Altid11 )urlal ) t . I
～様 bdoos not contibute

franed)Turaev
cobuacket

to ass . gro

甌 (AKKN )

l φε tAut ( Lie (E,…,Eu) ) φ o ?gr =? gro
φ

o

kV( ) 1φ EKRUW = { φ o δ
'

gr
= δgro φ
～KVuy

凸 UEK-Vn…
lograrithm



3
. EM5 -gon& kVequations .

n～

{
ayφ]ciy)+ ay4)ly. o 2 - 2 yφ)( pu+ y , o )-2R 、z)= 0

φ E SlEuPeet U [φ ] : = 4 y,x),φ a、 gi )

R U14ky)) = R ,φ bc.y1] )

=は ,Rba 、z )+主 4はー )R14)

= 1 , Rbcy )一主 るyφ ] ayφ

前5gm ②2 z
4)は(.0 )- 2 y4)Gcey, o ) ) ]

= は, f(xty) ] the same !
.

R Uφ(ax2] = R (Cx,φ (yix) ] )=… , f(uy) ]
UE sder(Lielzi..Zul ) 。

ta= ai…GmEAssl ]Urulall - U.{µrlal)=wa-ay ulal)(Iµr (IDanti"Gm)

To be contiuned a an .


